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~A side of the equﬂateral hexagon and a radius of the circumscribed circle

A dlameter of the triangular inscribed circle~
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Hexagon 1in the circle

Half the diameter is 5 sun. I draw three diagonal lines through the center of the circle to the hexagon that be inscribed in the

circle.

There Is a regqlar .hexagon in the c!rcle. [ tabe out AOGL from it
ﬁé;gg’on-rhls radius Is equal to a side of the regular OG and OL is equal because they are radius of the circle.

Therefore, AOGL is isosceles triangle.
ZGOL=360" —6=60"

Three-star in the triangle ZOGL+ £0LG=180" —60" =120°

: AOGLis a i -
| draw a line to each top from the center S0, AOGL is a isosceles triangle,
: : Z0GL=Z0LG=60
of the equilateral triangle and make a

£ i 1 d I . ‘hed c 1 From these things, all interior angle of AOGL are 60° .
riangle and make ai 1scribed CIrcle. AOGL is a equilateral triangle.

The figure where the diameter 1s 26794o. In other words, the radius of the circle and the side of the equilateral hexagon that be inscribed in
[ divide area 433 of the equilateral the circle are equal.
triangle by 3 and do this 4 times.
Furthermore, | divide this by what | added The area of the equilateral triangle is
0.57732 and 0.57732 and 1. 31 3
Then the diameter of the inscribed circle L X oxX 5= Z=0.433...
1s tound. Since each of the triangle 1s the area of the equilateral triangle three
135/\%&”}' equa11 parts, 0.433 ... — 3 = 0.144333 ...
e S=5r(a+b+c)
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0.144333 ... = 5r (0.57732 + 0.57732 + 1)
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gst&) 7f§d)°%b "L" . When the diameter and x r = %X
Summary/Future problem/ Impression
F &8 Summary 0.144333 ... = 7% X 2.15464
- i} . —_— i 0.577333 ... = x X 2.15464
_NoDEEIE, %ﬁ fzEMZ, L\—Cﬂd)'iééx&bélﬁﬂ:ﬁ—@b . = _ 0. 577333 ~ 0.96794886
=, REAMNEHEELRLELITLE, 2.15464 ™
These problems were problem to find the length of the side with a about 0.26794
polygon and a circle. How to solve is the same way to the present. % J\&-1LUH
SHEDEE-E Future problem
b AERTEIZIL T TEEZLTUOE LV EBRLVEL =, | wanted to work to plan properly from now on. %I)ZE?JT N
%% Impression Fuisudanka| Sampou
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When the modern translation of the Japanese mathematics, we don’t know the words are so many this =3 M Eh
work was hard. Through this class, we are glad to touch a traditional mathematics of Japan. WLE Author - MURASE
x:/\ Yoshimasu




